Use the diagram to provide an example or a non-example demonstrating each postulate.

. Through any two points there exists exactly one line.

. If two lines intersect, they intersect at exactly one point.
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3. Through any three non-collinear points there is exactly one plane.

4. If two points lie in a plane, then the line containing those points will also lie in the plane.
5

. If two planes intersect, they intersect in exactly one line.

Using the diagram at the top of the page label each statement as true or false and EXPLAIN why.
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